il
W
St
%
I

1. TE4
THE4 AR P EmmteT (F—1TK) T
T4 JRE VR o VR VR I T R KT Mt 5
2. THEHNE
1)  HEI4 KB EEFEIT  LEHE—3
2) £ I & OBh - Y &S T H
3) T Eiij] 410 H H AF0 64117 1H
= AFn THE12H 151
4) TEyE

ELAma  JuN TR )R




FH

LAy

%
T

THE4 | FAIRRERARET GB—TK) TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl iR
bt =X 1 98, 779, 432
s+ T 2 1 3,817, 792
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AT = 1 16,878 |+ GRiA 1) 3 m3
2. 5mATH
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#n JEAE ¢ 500 [JE500] 9 m2
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HRAEREL ¢ 500 1 X
¢ 350~ ¢ 650 ;
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R T = 1 7,426, 432
TA7 7 Ml T X 1 640, 665 | B KE (FE - BIEER) 207 m2
RIS R M40 {1 Y /5 150mm ;
g (I - BIF ) 207 m2
AR A2 (20) AH%E/E 50mm 1. 4mPd |3
.OmELF
av))- M T X 1 6, 785, 767 | T/E &ML (HIE - BRJE H0) 549 m2
BAEI7yv4T/ RC-40 {1 EVJE 150mm ;
2 - M % 549 m2
18-8-40 (& 47)  JE35cm ;
H Hi 15 m2
JERE A ik t =10 ;
HEE L = 1 7,002, 963
HEYHE L T = 1 4,369,221 |2/7)-MEEEUE L 513 m3
HAEEY Bl T
TR AL T = 1 2,633,742 | FRIEME 513 m3
av ) -bik (BER5)
By 513 m3
av ) -bak (BERR)
s ALER T = 1 148, 570
DAL PR T =X 1 148,570 | E@EIEEE 10 ]
R B
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AEEHE T 2 1, 318, 240 | AW EE i B 88 A H
[ERAE Xy = 98, 779, 432
HiE 2 = 13, 290, 000
Mo R 2 = 5, 359, 000
et = 4,392,000 |MEAEEIHE 184 AH
FEisli 323 2 4
3m2/ AR (THEFHFA) ;
FEislia 323 1 4
3m2/ BRI (A ERER)
BGRESGESE (5 L) = 967, 000
B (FEHL) = 7,931, 000
T = 112, 069, 432
Bl gy = 30, 572, 000
T =5l = 142, 641, 432
— R A = 23, 348, 568
TS = 165, 990, 000

TAZIEE LN )R




